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Q1 Choose the correct from the following:

(a) Population density is high in rural areas.

(b) Capital is the major resource of the nation.

(c) North Hemisphere is less populated.

(d) Distribution of the population in the world is uneven.

Q.2 Assertion (A): In India judiciary is independent of the executive.

Reason (R): Judiciary favours the government and helps in the implementation of its
plans.

(A) Both (A) & (R) are correct & (R) is correct explanation of (A)

(B) Both (A) & (R) are correct & (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is wrong

(D) (R) is correct but (A) is wrong

Q3. Which report laid down provisions for the establishment of university education in
India?

Q4. Mention the name of the society set up by Jones.

Q5. State the factors affecting population change?

Q6. Write a short note on distribution of population.

Q7:Read the source and answer the questions below:

Emphasising the need to teach English, Macaulay declared:

All parties seem to be agreed on one point, that the dialects commonly spoken among the
natives ... of India, contain neither literary nor scientific information, and are, moreover, so poor
and rude that, until they are enriched from some other quarter, it will not be easy to translate
any valuable work into them ...

(a)Why did the British officials criticize the Indian learning?

(b) What was the aim of the Act 1835?




